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1_1. [The Liberal party, led by the person who wins the current leadership, will some day return to power as Canada's government] To what extent do you agree or disagree with the following statements?

HOUSEHOLD
REGION HOUSEHOLD INCOME COMPOSITION

SK/MB Ontario Quebec Atlantic <40k 40k-<60K 60k-<100k 100k+
Base: All Respondents 1021 131 105 67 355 271 92 278 180 234 132 243 736
Weighted 1021 137 108* 66* 391 245 73* 287 177 231 128 249 722

The Liberal party, led by the person who wins the

current leadership, will some day return to power
as Canada's government

130 14 10 5 47 39 15 33 20 34 22 27 94
Strongly agree 13.0% 10.0% 9.0% 7.0% 12.0% 16.0% 20.0% 11.0% 11.0% 15.0% 18.0% 11.0% 13.0%
ABCD
446 54 35 26 179 115 37 120 89 108 50 103 322
Somewhat agree 44.0% 39.0% 32.0% 39.0% 46.0% 47.0% 51.0% 42.0% 50.0% 47.0% 39.0% 41.0% 45.0%
B B B
319 55 41 23 117 68 14 104 51 54 35 85 218
Somewhat disagree 31.0% 40.0% 38.0% 35.0% 30.0% 28.0% 19.0% 36.0% 29.0% 23.0% 27.0% 34.0% 30.0%
DEF F F |
126 13 22 13 49 23 6 30 17 35 20 34 88
Strongly disagree 12.0% 10.0% 20.0% 19.0% 12.0% 9.0% 9.0% 10.0% 10.0% 15.0% 16.0% 14.0% 12.0%
ADEF E
576 68 45 31 226 154 52 153 109 142 72 130 415
Top2Box (Strongly/ Somewhat agree) 56.0% 50.0% 42.0% 46.0% 58.0% 63.0% 72.0% 53.0% 62.0% 61.0% 57.0% 52.0% 58.0%
B ABC ABCD
445 69 63 36 166 91 20 134 68 89 55 119 306
Low2Box (Somewhat/ Strongly disagree) 44.0% 50.0% 58.0% 54.0% 42.0% 37.0% 28.0% 47.0% 38.0% 39.0% 43.0% 48.0% 42.0%
EF DEF EF F

Proportions/Means: Columns Tested (5% risk level) - A/B/C/D/E/F - G/H/I/J - K/L Overlap formulae used. * small base
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1_2. [In the end, the three parties in opposition - the NDP, Liberals and Greens - will not be able to beat the Harper Conservatives on their own, so they ...] To what extent do you agree or disagree with the following statements?

HOUSEHOLD
REGION HOUSEHOLD INCOME COMPOSITION

SK/MB Ontario Quebec Atlantic <40k 40k-<60K 60k-<100k 100k+
Base: All Respondents 1021 131 105 67 355 271 92 278 180 234 132 243 736
Weighted 1021 137 108* 66* 391 245 73* 287 177 231 128 249 722

In the end, the three parties in opposition - the

NDP, Liberals and Greens - will not be able to beat
the Harper Conservatives on their own, so they ...

144 12 8 9 46 54 13 48 29 31 17 36 95
Strongly agree 14.0% 9.0% 7.0% 14.0% 12.0% 22.0% 19.0% 17.0% 16.0% 13.0% 13.0% 15.0% 13.0%
ABD AB
376 40 34 21 136 114 30 108 72 81 46 88 266
Somewhat agree 37.0% 29.0% 31.0% 32.0% 35.0% 47.0% 41.0% 38.0% 41.0% 35.0% 36.0% 35.0% 37.0%
ABCD
331 49 38 23 142 61 18 87 46 82 41 80 237
Somewhat disagree 32.0% 36.0% 35.0% 34.0% 36.0% 25.0% 25.0% 31.0% 26.0% 36.0% 32.0% 32.0% 33.0%
E E
171 36 28 13 67 16 11 43 30 37 24 44 124
Strongly disagree 17.0% 26.0% 26.0% 19.0% 17.0% 6.0% 15.0% 15.0% 17.0% 16.0% 19.0% 18.0% 17.0%
DEF DE E E E
519 52 42 31 182 169 44 156 101 112 63 124 360
Top2Box (Strongly/ Somewhat agree) 51.0% 38.0% 39.0% 46.0% 47.0% 69.0% 60.0% 54.0% 57.0% 49.0% 49.0% 50.0% 50.0%
ABCD ABD
502 85 66 36 209 77 29 131 77 119 65 124 362
Low2Box (Somewhat/ Strongly disagree) 49.0% 62.0% 61.0% 54.0% 53.0% 31.0% 40.0% 46.0% 43.0% 51.0% 51.0% 50.0% 50.0%
EF EF E EF

Proportions/Means: Columns Tested (5% risk level) - A/B/C/D/E/F - G/H/I/J - K/L Overlap formulae used. * small base
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2_1. [You expect to win the race] As you may know, the federal Liberal Party is currently in a leadership race. Justin Trudeau, Marc Garneau, Martha Hall Findlay, Joyce Murray and Deborah Coyne have all declared their intention to run. Please

indicate which candidate...

HOUSEHOLD
REGION HOUSEHOLD INCOME COMPOSITION
SK/MB Ontario Quebec Atlantic <40k 40k-<60K 60k-<100k 100k+
A B C D E F G H | J K L
Base: All Respondents 1021 131 105 67 355 271 92 278 180 234 132 243 736
Weighted 1021 137 108* 66* 391 245 73* 287 177 231 128 249 722
701 97 64 51 259 179 52 185 116 171 92 170 500
Justin Trudeau 69.0% 71.0% 59.0% 76.0% 66.0% 73.0% 72.0% 65.0% 65.0% 74.0% 72.0% 68.0% 69.0%
B B G
191 20 29 9 76 47 10 51 37 46 22 37 145
Marc Garneau 19.0% 15.0% 27.0% 13.0% 19.0% 19.0% 14.0% 18.0% 21.0% 20.0% 17.0% 15.0% 20.0%
ACF
53 7 8 2 23 10 3 17 13 6 6 16 33
Martha Hall Findlay 5.0% 5.0% 7.0% 4.0% 6.0% 4.0% 4.0% 6.0% 7.0% 3.0% 5.0% 6.0% 5.0%
|
51 9 6 2 23 7 4 24 4 5 5 16 31
Joyce Murray 5.0% 6.0% 6.0% 3.0% 6.0% 3.0% 6.0% 9.0% 2.0% 2.0% 4.0% 6.0% 4.0%
HI
25 4 1 3 11 2 4 8 7 2 3 10 13
Deborah Coyne 2.0% 3.0% 1.0% 4.0% 3.0% 1.0% 5.0% 3.0% 4.0% 1.0% 2.0% 4.0% 2.0%
E |

Proportions/Means: Columns Tested (5% risk level) - A/B/C/D/E/F - G/H/1/J - K/L Overlap formulae used. * small base
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2_2. [Would have the best chance of beating the Harper Conservatives in the next federal election] As you may know, the federal Liberal Party is currently in a leadership race. Justin Trudeau, Marc Garneau, Martha Hall Findlay, Joyce Murray
and Deborah Coyne have all declared their intention to run. Please indicate which candidate...

HOUSEHOLD
REGION HOUSEHOLD INCOME COMPOSITION

SK/MB Ontario Quebec Atlantic 40k-<60K 60k-<100k 100k+
Base: All Respondents 1021 131 105 67 355 271 92 278 180 234 132 243 736
Weighted 1021 137 108* 66* 391 245 73* 287 177 231 128 249 722
Would have the best chance of beating the Harper
Conservatives in the next federal election
631 83 56 43 238 167 43 179 100 152 83 158 443
Justin Trudeau 62.0% 61.0% 51.0% 65.0% 61.0% 68.0% 60.0% 62.0% 56.0% 66.0% 65.0% 63.0% 61.0%
B
250 33 35 14 101 53 14 59 55 62 25 48 195
Marc Garneau 24.0% 24.0% 32.0% 22.0% 26.0% 21.0% 19.0% 21.0% 31.0% 27.0% 19.0% 19.0% 27.0%
E GJ K
62 7 8 4 26 11 5 21 9 11 10 21 34
Martha Hall Findlay 6.0% 5.0% 8.0% 6.0% 7.0% 4.0% 7.0% 7.0% 5.0% 5.0% 7.0% 8.0% 5.0%
L
40 5 5 2 13 8 6 13 4 5 6 12 23
Joyce Murray 4.0% 4.0% 5.0% 3.0% 3.0% 3.0% 8.0% 5.0% 2.0% 2.0% 5.0% 5.0% 3.0%
39 8 4 3 13 6 4 14 9 1 4 10 25
Deborah Coyne 4.0% 6.0% 4.0% 5.0% 3.0% 3.0% 6.0% 5.0% 5.0% 0 3.0% 4.0% 4.0%
| | |

Proportions/Means: Columns Tested (5% risk level) - A/B/C/D/E/F - G/H/1/J - K/L Overlap formulae used. * small base
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